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- g5 10,0002 %1,000& 10,000
- 24 459,000& 459
O 2rgd d==+Hel(R/0) 228 7Y 26,542
- JtECXl BH 3,185,000& 3,185
- #®egy 15,0002 %1,000& 15,000
- o= 8,000& *1,000& 8,000
- 24 357,000 357
O A2AE 2893 7Y 46,900
- BEH IEE 22443
300& *4,000kg 1,200
- SAAMESE HaAAN3
25,000,000 25,000
- 3E8 24 6,500,000 6,500
- SFHMANE 24E 800,000 800

_17_




2A:

@ﬂ:jé%%
gl Jelgddy 29 (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
- LIOIsAHANE =2gdE
10,000,000 10,000
- 29 Z2Hl 2,500,000 2,500
- Ol2n&==XI(NOX)HIHE
3,000 %300 £ 900
O 22E UDIYXIAE 228 72 35,112
- Ot 110,000 *264H 29,040
- 2 30X 18,0002 »264H 4,752
- HilFL 5,000 »264 4 1,320
307 212+01& 160,000 150,000 10,000
05 2ItRIE = 160,000 150,000 10,000
O Jeletddy HesSsdERY U2
Ared 160,000,000 160,000
401 Al HIZ S 0HbI 580,000 740,000 A160,000
01 AlZH| 580,000 735,000 155,000
O Jelatd3de HIISXeIAME HES= 3
At 580,000
- ZEAUMEE R/0A MCCE WAl
30,000,000 30,000
- A2A2Ex(UEE ¥ SN 1Al 8)
250,000,000& 250,000
- HEHII= S 42Xy /ASXel 849
300,000,000 300,000
FET HOISXCIANE(22E) ERIAE(=8I) 300,000 0 300,000
= 300,000
401 A& HIX R0 300,000 0 300,000
= 300,000
01 Al&HI 300,000 0 300,000
O JIZ2 & HAIEAH ESH]
300,000,000 300,000
= 300,000
dH2I3JH(eF2A2/) 62,690 69,640 26,950
[=2Z3H(EF 22 62,690 69,640 26,950
Jl=ghl/az e 30,740 34,140 A3,400
201 eer23y| 22,500 25,000 /2,500
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